O EHS1FERBEEFRKABRERNEZEFERICLIBMBEEDHERICONT
REERGEH—E
BREAZE Na(MNUFL—arvARIROAA—R(ZLDBRE

BREMI EMP2UELT U TBARIIOA—F (EMFO v/ AUk S11 8)

R TMRIE 25Bq/Kg

BREERE 1, 200

RERRE REtEd

BREHGH

apPpwON =

* #
BEEAR | B30 2| L\ 85| 20| RAE | B | ZOf |no e

H31.4.9 845F%E 42 8 4 5 15 8 2 0
~R2.3.19| 522 &

O FEHSI1EEFRBBE-FIVIJEEREDITHER GR|RE) IZDOVT
BEAZ STIIZHOLPEFRERAON AV BARIEOAN)—IZLDZEDHT
AEFMHZEAGERREHERS
BB FILIZ LI ERBRTHEE
(FITYO B GeF BAHRHER SEG—EMS)

-

2 BRHETHRIE 1Ba’ke
3 B®REFR:1, 000#
4 REFER BREET
5 BREHH $E‘Z31¢4F]9EI~’%$D2¢3F]19@5@%’615@?&6}: 44
/]\- 1 ;Elu--‘“él: Ba/k
2pa% | REEHE |05 AR|EUE JEER (Ba/ke)
DRI e Y7L RETRIE| evvme R TRIE| 7Y 440

BE T IESR | TH31448 9B ~12H 769 |#He$[(<0.835)mHes|(<0.926) 30.9

TR314E48158~198 731 |#%E£7|(<0.680)[mH€9[(<0.768)| 26.7

Fri31E4H822H~26H 741 |BHEE7((<0.752)|#&#7((<0.917)[ 31.9

TH3144A278 5888 ~108 758 |#®HEF((<0.764)|me#¥[(<0.964)] 36.2

SMTESH13E~178 760 |#®HET|(<0.751)|#ET((<0.694)( 42.9

AFTESH208~248 721 |#®H£7((<0.806)|®E#7T|(<0.699) 31.5

SMTES5H278~31H 731 |#BHEE7((<0.856)|wH#((<0.812)] 34.7

SHMTE6A3A~7H 711 |#HEE9((<0.558)|#H£5](<0.739)] 40.8

4HTE6H108~148 759 |#®HEF|(<0.806)[mH€7((<0.570) 37.8

SMTE6H17H~218 752 |#HE9((<0.713)|#E£$|(<0.690)| 33.6

SHMTE6H24H~28H 747 |#BHEE7((<0.808)| w7 [(<0.715)] 31.7

THTE7A1B~5H 742 |#HE7)(<0.860)[#H€¥)(<0.778)| 42.8

SHTE7A8E~12H 758 |#H+£9((<0.821)|#E£75|(<0.770)] 43.0

4HTE7H16H~198 736 |B®HET|(<0.629)|®E#7((<0.823)[ 45.0

SHMTE7H22H~26H 747 |#BHEE7((<0.667)|mE#$[(<0568)] 40.0

SHMTESH26H~30H 749 |#HET((<0.860)|#EET|(<0.931) 27.8

SHTEOA28~6H 735 |#weEE7((<0.819)|®ute9((<0.959) 30.7

SHMTEIH9H~13H 724 |#HET((<0.700)|#EE$|(<0.623) 42.3

SHMITEIR17H~20H 729 |#BHE7((<0.768)|wEw[(<0.773)| 27.7

SHTE9H24A~27H 769 |#d£9((<0.842)|#H£7)(<0.842)] 36.5

AFTEIA30E ~1084H 743 |#%HEE9((<0.866)|®et¥((<0.693)] 38.4

AHMTEI0R7A~110 738 |#®HET((<0.588)|#itt$|(<0.679) 21.2

AFTE10A 158 ~188 774 |#%HEE7((<0.676)|#®eE9((<0.822)] 36.6

£HMTEI108198~25H 731 |[#EE9((<0.721)|#ee$[(<0.642)] 59.8

SHTEI0F28E~11A18 728 |#®HEET((<0.727)|ree¥((<0.763)| 454

SHTHE11858~8H 730 |#®HEET|(<0.492)[mHe7[(<0.742)] 33.6

SFTENHA11B~15H 736 |BHET|(<0.626)|®ET((<0.767)[ 37.9

|| BB 5|55 E| BB R R B B R B R
GISIESISIEN ENTSL ST EN EN IS SIS ] ENEN TG SIS GGG S ST EN TS T S

SHMTEITH18H~22H 765 |B®EET|(<0.710)[me€7((<0.762) 36.1




SMTEI1A258~298| H 5 748 |®HE+7|(<0.606)|#®He7((<0.749)[ 38.1
SMTE12H28~60| & 5 | 753 |#®&E€7|(<L0.778)|#H#7[(<0.786)] 37.0
£HMTE12A98~13A| H 5 821 |BH+7((<0.846)|#He7((<0.643)[ 41.7
SMTEI2A168B~198| H 4 | 767 |#HE€7((<0.786)|#Ht7((<0.833)] 34.4
SHMTE12H208~248| H 3 | 747 |BEET[(<0.813)|#HEd[(<0.608) 43.2
4M24£1A88~108| H 3 | 829 |®iE7((<0.669)|#Hte7((<0.772)] 45.7
AM2&E1814A~178| H 4 791 |BHEET|(<0.769) &L+ 7|(<0.655) 45.4
AM2&18208~248| & 5 763 |#®HET|(<0.709)|#E#7((<0.968)[ 27.1
SM2418278~318| & 5 | 759 |#&HE+7((<0.625)|#H€7[(<0.860)] 52.6
SH2E2A30~7H =x) 5 759 |[#®HEET((<0.538)|#&E#F|(<0.790)] 39.2
4M2&28108~148| HH 4 | 712 [BHEEF|(<0.512)|®eed|(<0.814)| 44.7




